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(226.11) EZAI5=(Half sine pulse) (2’6.12) &4 XE2Q of

Ge?

' RFIX N
03 060 | .86 1441|170 1767 | 254 1615| 3.95 1.279| 7.10 1.164
04 080 | 88 1.462/1.72 1.765 | 256 1.610 | 4.00 1.268| 7.20 1.160
06 120 | .90 1501|174 1.764 |2.58 1.605| 4.05 1.258| 7.30 L1157
08 160 | 92 1501|176 1.762 | 2.60 1.600 | 410 1.947| 7.40 1.152 AE
10 200 | 94 152|178 1.761 |2.62 1595 | 415 1.937| 7.50 1.149
12 239 | 9 1.538/1.80 1.759 |2.64 1590 | 4.20 1.927| 7.60 1145 T 00g, 25ms
14 29| 98 1555|182 1757 | 2.66 1585 | 495 1.217| 7.70 1.140 :
16 318 | 100 1571(1.84 1.755 |2.68 1580 | 4.30 1.207| 7.80 1.135
18 357 | 102 1.586/1.86 1.753 | 270 1575|435 1.198] 7.90 1131 ) ]
20 396 | 1.04 1.601|1.88 1.750 | 2.72 1570 | 440 1.188] 8.00 1.126 1. 3471841 FAF9sE A
99 435 | 1.06 1.614/1.90 1747 |274 1510|445 1179|810 L120| 3
o4 474 | 1.08 1627|192 1.745 |2.76 1560 | 450 1.170| 8.20 1.115 900, 020 sec
96 512 | 110 1.640|1.94 1.742 | 278 1555 | 455 1.160| 8.30 1.110
98 550 | 112 1.651/1.96 1.739 | 2.80 1550 | 4.60 1.151[ 8.40 1.104 1
30 588 | 114 1.6621.98 1.735 | 2.82 1545 | 4.65 1.142| 8.50 1.099 fi= 000 - 2
32 625 | 116 1.6722.00 1732|284 1540 | 470 1.133| 8.60 1.093
34 662 | 118 1.682/2.02 1.729 |2.86 1535|475 1.125| 8.70 1.087 9 W7tak o] fiol ThF Hlee
36 698 | 1.20 1.690{2.04 1.725 | 2.88 1530 | 480 1.116] 8.80 1.082
38 735 | 122 1.699/2.06 1.722 |2.90 1525|485 1.108] 8.90 1.070 £ 85
40 711124 1.706/2.08 1.718 | 2.92 1.520 | 490 1.099| 9.00 1.070 T = ?=3-2
42 806 | 126 1714210 1714|294 1515|495 1001|911 1075 2
44 sal|128 1720(212 1710 | 2.9 1510 5.00 1.083] 92  1.080 29 6,114 Al 451
46 875|130 1.7%6(2.14 1.706 |2.98 1505|510 1.008|9.3 1.083
48 909 | 132 1752|216 1702 |3.00 1500 | 520 1.112| 9.4  1.057 ]
50 943 | 134 1.737/2.18 1.698 | 3.05 1488|530 1.124| 9.5 1.090 3. 100g9) %7 7K&=rh Al
52 976 | 1.36 1.742)2.20 1.694 |3.10 1.475 | 540 1.134| 9.6 1.092] 7}iAw) 9zt8 A 1Al Gee
54 1008 | 138 1.746/2.22 1694 |3.15 1463|550 1.143] 9.7 1.094 GemAm =1 451 X 100-145. 1g's
56 1040 | 1.40 1.752|2.24 1.685 |3.20 1.451 | 5.60 1.150| 9.8  1.097
58 LOTL | 142 1.753|2.26 1681 |3.25 1458|570 1.157] 9.9 1.098 ~ .
60 1102 | 144 17571298 1.676 |3.30 142 | 580 1.162| 10.0 1.100 4. 49E gololM H3A] S4 2
62 1132 | 1.46 1.759/2.30 1.672 |3.35 1414|590 1.167] 10.1 1101 i
64 1162 | 148 1.761)2.32 1.667 |340 1.402 | 6.00 1.170| 10.2 1.102 Gm = [%h
66 1191 | 150 1.763|2.34 1.663 |3.45 139 | 610 1.172| 10.3 1.102 W
68 1219 | 152 1.765/2.36 1.658 | 3.50 1.379 | 6.20 1.174| 10.4 1.103 I
70 1246 | 154 1.766|2.38 1.654 |3.55 1.367| 6.30 1.175| 10.5 1.103 _ [2xT50Ib/inx48in
79 1275 | 156 1.767)2.40 1.649 | 3.60 1.356 | 6.40 1.175| 0.6 1.103 AN Al
74 1299 | 158 1768|242 1.644 |3.65 1344|650 1.175] 10.7 1.102 - 1%
76 1325 | 1.60 1.768(2.44 1.659 |3.70 1.333|6.60 1.175| 10.8 1.102
78 1349 | 1.62 1769|246 1.635 |375 1322|670 1.173] 109 1.101 ) .
80 1975 | 1.64 1.768/2.48 1630 | 3.80 1.311 | 6.80 1.172| 11.0 1.100 5. Aol gt $4 ASAHE
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